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PLEASE READ THIS PAGE CAREFULLY.  
Note :  Candidate should remove the sticker seal and 
open this Booklet ONLY after announcement by centre 
superintendent and should thereafter check and ensure 
that this Booklet contains all the 32 pages and tally with 
the same Code No. given at bottom of first page & the 
bottom of each & every page. If you find any defect, 
variation, torn or unprinted page, please have it replaced 
at once before you start answering. 
IMPORTANT INSTRUCTIONS : 
1. The Answer sheet of a candidate who does not write 

his Roll No., or writes an incorrect Roll No. on the 
title page of the Booklet and in the space provided on 
the Answer sheet will neither be evaluated nor his 
result declared. 

2. The paper contains 200 questions. 
3. Attempt all questions as there will be no Negative 

Marking. 
4. The questions are of objective type. Here is an        

example. Question : 8 The capital of India is 
 (A) Mumbai  (B) Chennai 
 (C) Kolkata  (D) New Delhi 
 The correct answer of this question is New Delhi. 

You will therefore darken the circle with ink pen 
below column (D) as shown below : 

 A B C D 

 Q.8      
5. Each question has only one correct answer. If you 

give more than one answer, it will be considered 
wrong and it will not be evaluated. Changing, 
cutting, overwriting and erasing of an answer will 
be treated as wrong answer. 

6. The space for rough work wherever provided    may 
be utilized by the candidate. You are not to use any 
portion of the Answer Sheet for rough work. 

7. Do not mutilate this booklet in any manner. Serious 
damage/mutilation may entail disqualification. 

8. Do not leave your seat until the Answer Sheets have 
been collected at the close of the examination. 

9. Candidate will not leave the examination room till 
stipulated time is over and only after he has handed over 
the Answer Sheet to the staff on duty. 

        
 :            
              
 32               
                
         
  :  
1.             

    .        
             
     

2.    200     
3.            
4.           
  : 8      
 (A)  (B)   
 (C)  (D)    
              

  (D)    8        
      ,         

   A B C D 

 Q.8        
5.               

 ,          
    

 (, ,          
)  

6.                 
            
      

7.              / 
            

8.          -   
          

9.             
           -
          
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QUESTION BOOKLET  
 

This question paper contains 200 questions. /     200     

All questions are compulsory. /       

One question carries half mark only. /           

Maximum Marks : 100     100  

Time : 2 Hours     2   

 

1. 20 grains is equal to  
 (A) 1 scruple (B) 1 drachm (C) 1 ounce  (D) 1 pound 
 20     
 (A) 1  (B) 1  (C) 1  (D) 1  

 

2. A thick, viscous formulation consisting of aqueous suspensions of insoluble 
inorganic drugs is  

 (A) Lotion (B) Paste (C) Elixer (D) Magma 
        ,    
 (A)  (B)  (C)   (D)  

 

3. The first edition of British Pharmacopoeia was published in which year ?  
           ?  
 (A) 1854 (B) 1857 (C) 1864  (D) 1867 

 

4. What is the dose for 6 months old infant, of drug having adult dose of 300 mg ?  
 300 mg       6         ?  
 (A) 6 mg  (B) 8 mg (C) 10 mg (D) 12 mg 

 

5. A powder of which all particles pass through sieve number 120 is said to be 
(A) Moderately coarse powder  (B) Moderately fine powder  

 (C) Fine powder   (D) Very fine powder 
        120     ,    
 (A)     (B)     

 (C)     (D)    

 

6. The three rollers in triple roller mill are arranged in which of the following 
manner ? 

 (A) Horizontally  (B) Vertically (C) Pyramid (D) Triangular 
                ? 

 (A)  (B)  (C)  (D)  

 

7. Paka is which type of ayurvedic dosage form ?    
 (A) Solid (B) Semisolid (C) Liquid (D) Powder 
         ? 

 (A)  (B) - (C)  (D)  
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8. Dry heating at 100 °C for 1 hour causes  
 (A) Sterilization. 
 (B) Kills vegetative bacteria and spores. 
 (C) Kills vegetative bacteria but does not kill spores.  
 (D) Does not kill vegetative bacteria or spore. 
 100 °C  1         
 (A)  
 (B)         
 (C)     ,        
 (D)          

9. Colloidal silica is used as Glidant in concentration of  
 _____              
 (A) 0.2%  (B) 0.5  2% (C) 2-5% (D) 5-7% 

10. The correct statement with respect to hard gelatin capsule is  
 (A) Body is longer   (B) Cap is longer  
 (C) Both are equal   (D) Body is shorter and wider 
          
 (A)      (B)      
 (C)       (D)       

11. Formula of Rochelle's salt is  
      
 (A) C4H4O6KNa.4H2O  (B) C2H2O6KNa.4H2O  
 (C) C4H2O6KNa.4H2O  (D) C2H4O6KNa.4H2O 

12. Sodium metaphosphate is used in  
 (A) Anticaries (B) Antacid (C) Desensitizer (D) Dentifrice 
       
 (A)   (B)  (C)  (D)  

13. All statements listed below are correct for positive mixture, except  
 (A) They are irreversible. (B) They require energy.  
 (C) They are stable in nature. (D) Formed through diffusion process. 
          ,  
 (A)      (B)        
 (C)        (D)       

14. Filter press has following advantages, except  
 (A) It provides large surface area. 
 (B) It is a continuous process.  
 (C) Filter media can be used repeatedly.  
 (D) High filtration pressure can be used. 
      ,  
 (A)         
 (B)       
 (C)    -       
 (D)           
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15. Alkaline substances obtained from the ash of crude drugs are known as ___ 
in Ayurveda. 

 (A) Pisti  (B) Bhasma (C) Dravaka (D) Kshara 
                
 (A)  (B)  (C)  (D)  

 

16. Which of the following statement is not correct for a freeze dryer ?  
 (A) It is very fast process.  
 (B) Decomposition of product is minimized.  
 (C) Product is amorphous and readily soluble.  
 (D) It is useful for thermolabile substances. 
              ?  
 (A)        (B)        
 (C)        (D)          

 

17. -Propiolactone is used as  
 (A) Preservative   (B) Suspending agent  
 (C) Stabilizer    (D) Sterilizing agent 
 -       
 (A)  (B)  (C)  (D)  

 

18. Test measuring the rate and extent of solution formation from a given 
dosage form is  

 (A) Disintegration test   (B) Dissolution test  
 (C) Bioavailability test  (D) Content Uniformity test 
                  
 (A)     (B)   
 (C) -   (D)    

 

19. Content Uniformity test is carried out for measuring  
 (A) Potency    (B) Bioavailability 
 (C) Both (A) & (B)   (D) None of these 
            ? 
 (A)    (B) - 
 (C) (A)  (B)    (D)     

 

20. Stage in which the tablet size is build up during the sugar coating of tablets is  
 (A) Slugging (B) Sealing (C) Subcoating  (D) Finishing 
              ? 
 (A)  (B)  (C)  (D)  

 

21. The aperture size of stainless steel mesh in the Disintegration test apparatus is  
            
 (A) 0.615 ± 0.045 mm   (B) 1.0 ± 0.2 mm  
 (C) 2.0 ± 0.2 mm   (D) 2.0 ± 1.0 mm 
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22. Shells of soft gelatin capsules are made elastic by adding  
 (A) PEG  (B) Sorbitol (C) Povidone (D) Buna-N 
            ? 

 (A) PEG  (B)  (C)  (D) -N 

 

23. Compound cardamom tincture formula contains all ingredient listed below, except  
 (A) Caraway  (B) Cinnamon  (C) Liquorice  (D) Glycerin 
            

 (A)  (B)  (C)  (D)  

 

24. The incorrect statement with respect to the solubility property of calcium 
hydroxide is  

 (A) It is freely soluble in water. (B) It is soluble in sugar solutions. 
 (C) It is insoluble in alcohol.  (D) It is soluble in glycerol. 
            
 (A)        (B)        
 (C)       (D)       

 

25. Electrolysis of NaCl is used to manufacture  
     NaCl        ? 
 (A) HCl  (B) NaOH  (C) Na2CO3 (D) CaCO3 

 

26. Neutralised Phthalate buffer is prepared from 0.2 M Potassium Hydrogen 
Phthalate and adding specified volume of  

 (A) 0.2 M Potassium chloride solution (B) 0.2 M HCL solution  
 (C) 0.2 M NaOH solution  (D) 0.2 M Boric acid solution 
 0.2 M     _____        

     
 (A) 0.2 M    (B) 0.2 M HCL  

 (C) 0.2 M NaOH  (D) 0.2 M    

 

27. Chemical formula for Hypophosphorus acid is  
       
 (A) HPO2  (B) H2PO2  (C) H2P2O2  (D) HPH2O2 

 

28. “Hypo” is the synonym for  
 (A)  Hypophosphorus acid  (B) Sodium Bisulphite  
 (C) Sodium Metabisulphite  (D) Sodium Thiosulphate 
 “”    ? 
 (A)    (B)   

 (C)   (D)   
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29. Antacids containing ______ inhibit absorption of tetracycline from Intestine.  
 (A) Sodium bicarbonate  (B) Calcium carbonate  
 (C) Magnesium carbonate  (D) Magaldrate 
 ______  -           
 (A)    (B)   
 (C)    (D)  

 

30. Chlorinated lime should contain chlorine % w/w  
     % w/w   
 (A) 5%  (B) 10%  (C) 20%  (D) 30% 

 

31. Chloroquine has  
 (A) One indole ring   (B) One indole and one quinoline ring  
 (C) One quinoline ring  (D) One quinoline and piperidine ring 
     
 (A)     (B)       

 (C)     (D)      

 

32. Strong solution of alum is used as  
 (A) Reflex emetic (B) Styptic  (C) Cavity liner (D) Desensitizer 
           
 (A)   (B)  (C)   (D)  

 

33. The shoulder of oxygen cylinder is painted  
 (A) Black  (B) Grey  (C) White  (D) Blue 
         
 (A)  (B)  (C)  (D)  

 

34. Mannitol and Sodium chloride injection is used as Electrolyte replenisher 
cum _____  

 (A) Sterile Vehicle (B) Irrigation  (C) Nutrient  (D) Diuretic 
       - : - _____   

      
 (A)   (B)  (C)  (D)  

 

35. Roentgen is the    
 (A) Unit of radioactivity   
 (B) Unit of absorbed dose  
 (C) Unit of measuring ionizing radiation  
 (D) Unit of exposure 
   
 (A)    (B)     
 (C)      (D)    
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36. An example of quenching vapour used in the Geiger Muller counter is  
           
 (A) Ar  (B) He  (C) Cl  (D) N 

 

37. Identification test for Acetate is performed by heating sample solution with 
equal quantity of oxalic acid. Presence of acetate is detected by 

 (A)  Red colour solution (B)  White precipitate 
 (C)  Brown fumes  (D) Characteristic odour 
                

              : 
 (A)    (B)   (C)   (D)   

 

38. A drug which increases the secretion of saliva is    
 (A) Hydrogogue (B) Emmenagogue (C) Sialogogue (D) Cholagogue 
          
 (A)  (B)  (C)  (D)  

 

39. Which of the following is a rich source of Vitamins ? 
 (A) Gelatin (B) Honey (C) Arachis oil (D) Shark liver oil 
           ? 
 (A)  (B)  (C)   (D)    

 

40. Vitamin B3 refers to  
 (A) Biotin (B) Niacin (C) Thiamine (D) Riboflavin 
  B3    
 (A)  (B)  (C)  (D)  

 

41. In first year of cultivation Digitalis bear _______ leaves. 
 (A) Sessile  (B) Whorled  (C) Alternate  (D) Rosette 
       _______      
 (A)  (B)  (C)  (D)  

 

42. Rauwolfia roots are collected from ________ year old plants.  
   ________          
 (A) 1-2 (B) 3-4 (C) 5-6 (D) 7-8 

 

43. Which of the following is an example of non-heterocyclic alkaloid ?   
 (A) Aconite  (B) Lobelia  (C) Colchicine  (D) Tea 
     -     ?   
 (A)  (B)  (C)  (D)  

 

44. “Ginning”, is a process in which 
 (A) Bolls are separated from capsules.  (B) Trichome are separated from seeds.  
 (C) Linters are separated.  (D) Impurities are separated. 
 “”     
 (A) ,       (B) ,       
 (C)       (D)      
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45. Cascara has which type of bark ?  
 (A) Flat   (B) Compound quill  
 (C) Channeled    (D) Recurved 
       ?  
 (A)  (B)   (C)  (D)     

 

46. Castor seeds belong to which family ?  
 (A)  Leguminosae   (B) Polygonanceae  
 (C)  Euphorbiaceae   (D) Combretaceae 
        ?  
 (A)  (B)  (C)  (D)  

 

47. Which of the following drug acts as Antispasmodic ?  
 (A) Aconite (B) Vasaka  (C) Hyoscyamus  (D) Codeine 
        ()       ?  
 (A)  (B)  (C)  (D)  

 

48. The chemical constituent of lemon oil is  
 (A) Menthol  (B) Limonene  (C) Geraniol  (D) Carvacrol 
       
 (A)  (B)  (C)  (D)  

 

49. Presence of plasmodesmata are characteristic features of which drug ?  
 (A)  Clove (B) Fennel  (C) Cinchona  (D) Nux vomica 
          ?  
 (A)  (B)  (C)  (D)   

 

50. Number of asymmetric carbon atoms in glucose is  
         
 (A) 1  (B) 2  (C) 3  (D) 4 

 

51. Direction to the dispenser are contained in  
 (A) Superscription   (B) Inscription  
 (C) Subscription    (D) Signatura 
        
 (A)  (B)  (C)  (D)  

 

52. Why latin language is used in prescription ?  
 (A) For precise communication. 
 (B) Patient may not read prescription easily.  
 (C) Widely understood language in medical professionals.  
 (D) All of these 
  ()         ?  
 (A)     
 (B)         
 (C)           
 (D)   
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53. Which is not true for wet gum method ?     
 (A) Mucilage is used.   
 (B) Apparatus is not required to be dry.  
 (C) It is a quick process.  
 (D) Primary Emulsion is viscous and creamy. 
           ?     
 (A)         
 (B)         
 (C)       
 (D)         

 

54. Which sugar gives a positive seliwanoff’s test ?  
 (A) Glucose  (B)  Fructose  (C) Lactose  (D) Maltose 
         ?  
 (A)  (B)  (C)  (D)  

 

55. The normal range of cholesterol in the body is  
        
 (A) 25-50  (B)  50-100  (C) 100-150  (D) 150-200 

 

56. Hexokinase enzyme require _____ metal ions for activity.   
       _____        
 (A) Mn2+  (B) Mg2+  (C) K+  (D) Cu2+

 

 

57. Coenzyme NAD is derivative of  
 (A) Niacin  (B) Riboflavin  (C) Thiamine  (D) Adenine 
  NAD    
 (A)  (B)  (C)  (D)  

 

58. Ganglion refers to 
 (A) Collection of cell bodies of neurons in Central Nervous System.  
 (B) Collection of numerous axons in Peripheral Nervous System. 
 (C) Collection of cell bodies of neurons in Peripheral Nervous System.  
 (D) Collection of axons in Central Nervous System. 
     
 (A)           
 (B)         
 (C)           
 (D)        

 

59. The middle protective covering layer of brain is  
 (A) Pia mater    (B) Dura mater   
 (C) Arachnoid mater   (D)  Pons 
        
 (A)  (B)  (C)   (D)   
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60. An adult has ________ number teeth's of incisors in total.  
     ________      
 (A) 2  (B) 4  (C) 6  (D) 8 

 

61. Which one of the following is not a function of Liver ?  
 (A) Storage site for vitamins  (B) Site for metabolism of proteins  
 (C) Secretion of glucagon  (D) Detoxification of various drugs. 
           ?  
 (A)      (B)       

 (C)     (D)     

 

62. Calcitonin is secreted by  
 (A) Pituitary gland   (B) Thyroid  
 (C) Pancreas    (D) Adrenal 
       ? 

 (A)   (B)  (C)  (D)  

 

63. Progestational phase of menstrual cycle is antagonized by  
 (A) Progesterone    (B) Oestrogen   
 (C) Luteinizing hormone  (D) Prolactin 
           ? 
 (A)    (B)   

 (C)    (D)  

 

64. Cracks in lips is deficiency symptom of which vitamin ?   
           ?   
 (A) B1  (B) B2  (C) B3  (D) B4 

 

65. Which contraceptive pill is not recommended for the women feeding babies ? 
 (A) Combined oral contraceptive pill  (B) Progesterone only pills  
 (C) Once a month pill   (D) Emergency pill 
               

  ? 
 (A)     (B)    
 (C)       (D)   

 

66. Symptom of primary syphilis is  
 (A) Syphilitic gumma  (B) Mucor patches 
 (C) Aortic aneurysm   (D) Chancre 
      
 (A)     (B)   
 (C) -  (D)  
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67. “hora somni” means  
 (A) With food  (B) After meals  (C) At morning  (D) At bedtime 

 “ ”    
 (A)    (B)    (C)  (D)    

 

68. Liniments differ from lotions, as liniments do not contain 
 (A)  Turpentine   (B)  Alcohol  
 (C)  Camphor   (D)  Simple salt like ZnSO4 

      ,        
 (A)    (B)   

 (C)    (D) ZnSO4    

 

69. Which statement is not correct for flocculated suspensions ? 
 (A) Chances of cake formation are less. (B) Particles settle slowly. 
 (C) Particles form a network. (D) It is easy to disperse. 

           ? 

 (A)        (B)  -    
 (C)       (D)        

 

70. Which is an example of water soluble base ?   
 (A) Coconut oil (B) Pertolatum (C) Wool fat (D) PEG 

         ?   
 (A)   (B)  (C)   (D)    

 

71. All listed below are the measures to correct physical incompatibility, except 
(A) Changing order of mixing. 

 (B) Changing form of ingredient.  
 (C) Changing one of the reacting ingredients.  
 (D) Addition of suspending agent. 

           ,  
 (A)      (B)      
 (C)        (D)    

 

72. Which is an antiperspirant ?  
 (A) Trichlorocarbonilide  (B) Hexamethylene tetramine  
 (C) Petrolatum    (D) Aluminium chloral hydrate 

      ?  
 (A)   (B)   

 (C)    (D)    
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73. The method in which the drug is suspended in the oily vehicle and rubbed 
into the skin is called  

 (A) Facilitated diffusion  (B) Iontophoresis  
 (C) Intrathecal    (D) Inunction 
                , 

  
 (A)     (B)  

 (C) :  (D)  

 

74. Which drugs can pass through blood-brain barrier ?  
 (A) Lipid soluble, ionized  (B) Lipid soluble, non-ionized  
 (C) Hydrophilic, ionized  (D) Hydrophilic, non-ionized 
    -      ?  
 (A)  ,   (B)  ,  

 (C) ,   (D) ,  

 

75. Muscle relation is completed in which phase of general anesthesia ?  
 (A) Phase-I  (B) Phase-II  (C) Phase-III (D) Phase-IV 
            ?  
 (A) -I  (B) -II  (C) -III  (D) -IV 

 

76. Which does not have hypnotic activity ?  
 (A) Methohexitone   (B) Diazepam  
 (C)  Paraldehyde    (D) Barbituric acid 
       ?  
 (A)  (B)  (C)  (D)   

 

77. Which alkaloid belong to phenanthrene group ?  
 (A) Papaverine (B) Noscapine (C) Thebaine  (D) Narceine 
         ?  
 (A)  (B)  (C)  (D)  

 

78. Choose the correct action of morphine : 
 (A) Decrease the release of Acetylcholine. 
 (B) Stimulate the release of catecholamines.  
 (C) Potentiates the actions of 5-hydroxy tryptamine.  
 (D) Suppresses vomiting. 
         
 (A)       
 (B)         
 (C) 5-        
 (D)     
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79. Pentose sugar gives which test positive ?  
 (A) Inversion test   (B) Mucic acid test  
 (C) Full saturation test   (D) Bials test 
         ? 
 (A)    (B)    

 (C)     (D)   

 

80. Sympathetic blocking drug “alpha methyl dopa” acts by  
 (A) Depleting catecholamines. 
 (B) Interfering with synthesis of adrenergic transmitter. 
 (C) Interfering with transmission of impulse across postganglionic 

adrenergic neuron.  
 (D) Blocking adrenergic receptors. 
    “  ”    
 (A)     
 (B)        
 (C)            
 (D)      
 

81. An example of skeletal muscle relaxant drug directly acting on muscle is 
(A) Chlormezanone   (B) Succinyl choline   

 (C) Guanethidine   (D) Dantrolene 
             
 (A)    (B)    

 (C)    (D)  

 

82. Methicillin is mainly employed against  
 (A) Staphylococci resistant to penicillin. 
 (B) Gonococci resistant to penicillin.  
 (C) Streptococci resistant to penicillin.  
 (D) Protozoa resistant to penicillin. 
  :        
 (A)    (B)    
 (C)    (D)    

 

83. Which one of following is antimetabolic anticancer drug ?  
 (A) Busulphan    (B) Vincristine   
 (C) Triethylenemelamine  (D) Mecaptopurine 
          ?  
 (A)    (B)   

 (C)    (D)  
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84. Flush, flare and wheal is associated with injection of which drug ?  

 (A) Ergocalciferol (B) Digitalis  (C) Atropine  (D) Histamine 

 ,           ?  
 (A)  (B)  (C)  (D)  

 

85. Liquefied phenol has _______ % of phenol by weight in water.  

         _______ %      
 (A)  20  (B) 40  (C) 60  (D) 80 

 

86. Starting material for synthesis of sulphadiazine is  

 (A) 4-amino pyridine   (B) 4-amino pyrimidine  

 (C) 2-amino pyridine   (D) 2-amino pyrimidine 

         
 (A) 4-   (B) 4-  

 (C) 2-   (D) 2-  

 

87. Identify the heterocyclic ring 

   
 (A) Pyrimidine (B) Pyrazine (C) Pyridazine (D) Piperazine 

      

   
 (A)  (B)  (C)  (D)  

 

88. The nicotinic activity of cholinergic drugs is decreased due to 

 (A) Replacement of nitrogen in quaternary ammonium group with sulphur. 

 (B) Shortening of ethylene bridge. 

 (C) Increasing length of ethylene bridge. 

 (D) Alpha substitution on ethylene bridge. 

          ? 

 (A)           

 (B)     

 (C)      
 (D)      
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89. Which statement is not correct for Cholinergic blocking drugs ?  
 (A) They have some structural similarity to Acetylcholine. 
 (B) The Acyl group in drugs is smaller to acyl group of acetylcholine for 

good activity. 
 (C) The presence of free oh group or carbamide group is important for        

H-bonding to receptor. 
 (D) The nitrogen is the tertiary atom which should contain alkyl group not 

larger than butyl group 
            ?  
 (A)          
 (B)                  
 (C)          H-      
 (D)               

 

90. Which is incorrect for Glyceryl trinitrate ?   
 (A) Colourless liquid   (B) Oily liquid  
 (C) Odourless    (D) Not stored in Glass 
         ?   
 (A)     (B)   
 (C)     (D)       

 

91. Human insulin consist of 2 amino acid chains A and B 
 (A) 20 amino acids in A chain and 30 amino acids in B chain  
 (B) 20 amino acids in A chain and 31 amino acids in B chain  
 (C) 21 amino acids in A chain and 30 amino acids in B chain  
 (D) 21 amino acids in A chain and 31 amino acids in B chain 
   2    A  B     
 (A)  A  20     B  30   
 (B)  A  20     B  31   
 (C)  A  21     B  30   
 (D)  A  21     B  31   

 

92. Penicillin produce ________ upon hydrolysis with dilute alkali. 
 (A)  Benzyl penicillin   (B) Penicilloic acid  
 (C)  Propicillin    (D) Penicillamine 
      -  ________     
 (A)    (B)   
 (C)    (D)  

 

93. Tetracyclines are _______ in nature. 
 (A) Acidic (B) Basic (C) Amphoteric  (D) Tart 
    _______   
 (A)  (B)  (C)  (D)  
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94. The given structure is of drug 

   
 (A) Physostigmine   (B) Chlorpropamide  
 (C) Sulphacetamide   (D) Furosemide 

        

   
 (A)  (B)  (C)  (D)  

 

95. Schedule N refers to 
 (A) Requirement of factory premises for manufacture of medical devices. 
 (B) Pack size of drugs. 
 (C) Life period of drugs. 
 (D) List of minimum equipment for running of pharmacy. 

  N    
 (A)           
 (B)     

 (C)     

 (D)          

 

96. Application for cultivation license of opium is made on form  

               
 (A) 1  (B) 2  (C) 8 (D) 10 

 

97. According to Dual aspect concept  
 (A) Assets=Capital – Liabilities  (B) Assets = Capital + Liabilities  
 (C) Assets= Capital – 1/Liability  (D) Assets = Capital + 1/Liability 

     
 (A)  =  –  (B)  =  +  
 (C)  =  – 1/ (D)  =  + 1/ 
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98. Overdraft in banking services refers to 
 (A) Banks encash their customers bills before they become due for payment. 
 (B) Bank advances a certain sum to customer against some security. 
 (C) Bank fixes a limit upto which a customer may borrow money from it 

against security. 
 (D) Allowing customer to draw cheques even if there is no balance in his account. 
        
 (A)                  
 (B)              
 (C)                 

    
 (D)                    

 

99. An error which occurs "When there is mistake in allocating a particular 
receipt or expense to capital or revenue account" is an error of type ? 

 (A) Errors of Commission  (B) Errors of Omission  
 (C) Error of Principle   (D) Error of Posting 
    "             

   "      
 (A)  (B)  (C)   (D)    

 

100. The correct attention value order is 
 (A) Red > Blue > Yellow > Orange > Green  
 (B) Red > Green > Yellow > Orange > Blue  
 (C) Red > Yellow > Orange > Blue > Green  
 (D) Red > Orange > Yellow > Green > Blue 
      
 (A)  >  >  >  >   (B)  >  >  >  >  
 (C)  >  >  >  >  (D)  >  >  >  >   

 

101. High magnification of electron microscope is due to 

 (A) Electron beam  (B) Electromagnets 
 (C) High voltage   (D) Vacuum 
         
 (A)   (B)   (C)     (D)  

 

102. Longest cells in human body are 

 (A) Nerve cells   (B) Bone cells 
 (C) Leg muscle cells  (D) Heart muscle cells 
        
 (A)    (B)   
 (C)     (D)    
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103. The term cytoplasm was coined by 

 (A) Sachs (B) Strasburger (C) Hanstein (D) Flemming 
      ? 

 (A)  (B)  (C)  (D)  

 

104. A monosaccharide is  

 (A) Lactose (B) Sucrose (C) Ribose (D) Maltose 
    
 (A)  (B)  (C)  (D)  

 

105. Oogenesis is an example of 

 (A) Mitosis   (B) Meiosis   
 (C) Specialisation of cell (D) DNA replication 
      
 (A)     (B)     

 (C)    (D) DNA  

 

106. Nuclear envelope reappears at 

 (A) Metaphase (B) Anaphase (C) Cytokinesis (D) Telophase 
   :    
 (A)     (B)   
 (C) -  (D)   
 

107. Two solutions with the same osmolarity are 

 (A) Isotonic (B) Hypertonic (C) Hypotonic (D) None of these 
        
 (A)  (B)  (C)  (D)     

 

108. Cytochromes are 

 (A) O2 acceptors   (B) H2 acceptors  
 (C) Electron acceptors  (D) H2O acceptors 
    
 (A) O2  (B) H2  (C)   (D) H2O   

 

109. The most common respiratory substrate is 

 (A) Glucose (B) Sucrose (C) Maltose (D) Glycogen 
      
 (A)  (B)  (C)  (D)  

 

110. Sebaceous glands are 

 (A) Apocrine (B) Mesocrine (C) Holocrine (D) None of these 
 -  
 (A)  (B)  (C)  (D)     
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111. A digestive enzyme functional only in infants is 

 (A) Lactose   (B) Gastric lipase 
 (C) Intestinal lipase  (D) Chymotrypsin 
        
 (A)  (B)   (C)   (D)  

 

112. Residual air mostly occurs in 

 (A) Alveoli (B) Bronchus (C) Nostrils (D) Trachea 
   :    
 (A)  (B)  (C)  (D)  

 

113. Agranulocytes are 

 (A) Eosinophils (B) Neutrophils (C) Basophils (D) None of these 
   
 (A)  (B)  (C)  (D)     

 

114. The elimination of insoluble calcium phosphate takes place by 

 (A) Liver (B) Kidney (C) Large intestine (D) Skin 
        
 (A)   (B)   (C)    (D)   
 

115. Which ion is essential for muscle contraction ? 

          ? 

 (A) Na (B) K (C) Ca (D) Cl 

 

116. White matter is external and grey matter is internal in 

 (A) Cerebrum   (B) Cerebellum  
 (C) Medulla oblongata  (D) Both (B) and (C) 
          ? 

 (A)    (B)   
 (C)    (D) (A)  (C)  
 

117. Light rays entering the eye is controlled by 

 (A) Pupil (B) Iris (C) Cornea (D) Lens 
             ? 

 (A)  (B)  (C)  (D)  

 

118. Antiageing hormone is 

 (A) Thyroxine (B) Melatonin (C) Estrogen (D) Testosterone 
    
 (A)  (B)  (C)  (D)  

 

119. Which one is saprophytic in nutrition ? 

 (A) Fungi (B) Cyanobacteria (C) Viruses (D) All of these 
        ? 

 (A)  (B)  (C)  (D)   
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120. Bacteriophage is 

 (A) Mycoplasma (B) Virus (C) Rickettsia (D) Spirochaete 
   
 (A)  (B)  (C)  (D)  

 

121. Which tehsil of H.P. does not fall in the Shiwalik hills ? 

 (A) Nahan (B) Bhoranj (C) Pachhad (D) Anni 
             ? 

 (A)  (B)  (C)  (D)  

 

122. Which district of H.P. is located to the west of Bilaspur ? 

 (A) Mandi (B) Solan (C) Kullu (D) Una 
             ? 

 (A)  (B)  (C)  (D)  

 

123. Which European traveller called Lahaul in 1873 AD as ‘The Valley of 
Glaciers’ ? 

 (A) Edward Wilson  (B) Andrew Wilson 
 (C) Hutchinson   (D) None of these 
  1873        ‘  ’  ? 

 (A)   (B)   (C)  (D)     

 

124. Who was the chief of the Gurkha forces which attacked Kangra princely 
state in 1804-05 AD ? 

 (A) Zorawar Singh Thapa (B) Madhan Singh Thapa 
 (C) Jit Singh   (D) Amar Singh Thapa 
  1804-05              ? 

 (A)    (B)    (C)   (D)    

 

125. Who founded the princely State Bhajji in H.P. ?  

 (A) Chand (B) Ran Bahadur (C) Bhup Singh (D) Charu 
          ?  

 (A)  (B)   (C)   (D)  

 

126. When Kangra princely state of H.P. came under the possession of British ? 

 (A) After the revolt of 1857 AD. (B) After 1875 AD. 
 (C) After 1861 AD.  (D) None of these 
            ? 

 (A)  1857     (B)  1875   
 (C)  1861    (D)     

 

127. Who was known as ‘Pahari Gandhi’ ? 

 (A) Abdul Ghaffar Khan (B) Shiva Nand Ramaul  
 (C) Pt. Padam Dev  (D) Baba Kanshi Ram 
  ‘ ’       ? 

 (A)     (B)    
 (C) .     (D)   
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128. Who conceived the idea of Nalwari fair of Bilaspur in 1889 A.D. ? 

 (A) Raja Anand Chand  (B) W. Goldstein  
 (C) Wazir Hikmat Khan (D) Baba Kanshi Ram 
  1889           ? 

 (A)     (B) .   
 (C)     (D)   

 

129. The local diety of Malana village of Kullu Jamlu Devta is personified as 

 (A) Rishi Jamadagini  (B) Rishi Vashishth 
 (C) Rishi Vyas   (D) Rishi Sringi 
               ? 

 (A)   (B)   (C)   (D)   

 

130. ‘Rumals’ of which district of H.P. are very famous ? 

 (A) Chamba (B) Kangra (C) Sirmour (D) Mandi 
       ‘’   ? 

 (A)  (B)  (C)  (D)  

 

131. In which year Kuth cultivation was introduced in Lahaul-Spiti district of H.P. ? 

    -          ? 

 (A) 1925 (B) 1935 (C) 1945 (D) 1955 

 

132. The Government Ayurvedic College in H.P. is located at which place ? 

 (A) Solan   (B) Jogindernagar  
 (C) Banjar   (D) Paprola 
            ? 

 (A)  (B)  (C)  (D)  

 

133. Mangal Singh Patial, an INA soldier was from which district of H.P. ? 

 (A) Bilaspur (B) Hamirpur (C) Una (D) Kangra 
   ,  INA ,        ? 

 (A)  (B)  (C)  (D)  

 

134. The Satluj does not flow through which district of H.P. ? 

 (A) Sirmour (B) Bilaspur (C) Shimla (D) Solan 
           ? 

 (A)  (B)  (C)  (D)  

 

135. In which year Shimla-Kalka railways was declared as heritage ? 

   -       ? 

 (A) 2005 (B) 2006 (C) 2007 (D) 2008 

 

136. The salient feature of Rigvedic religion was the worship of  

 (A) Nature   (B) Pashupati  
 (C) Mother Goddess  (D) Trimurti 
      _____     

 (A)  (B)  (C)  (D)  
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137. Pulakesin II defeated Harshavardhana on the banks of which river ? 

 (A) Godavari (B) Narmada (C) Tapti (D) Mahanadi 

      -II      ? 

 (A)  (B)  (C)  (D)  

 

138. Which Delhi Sultan issued copper coins instead of silver ones ? 

 (A) Muhammad bin Tughlaq (B) Alauddin Khilji 
 (C) Balban   (D) Iltutmish 

            ? 

 (A)     (B)   
 (C)    (D)  

 

139. In 1809, Maharaja Ranjit Singh signed a treaty with 

 (A) East India Company (B) Shah Alam 
 (C) King of Kashmir  (D) Ruler of Sindh 

 1809            ? 

 (A)     (B)   

 (C)      (D)    

 

140. Who built the Stupa at Sanchi ? 

 (A) Harsha (B) Ashoka (C) Kanishka (D) Chandragupta 

        ? 

 (A)  (B)  (C)  (D)  

 

141. The split between the extremists and moderates took place in which session 
of Indian National Congress ? 

 (A) Calcutta (B) Lahore (C) Bombay (D) Surat 

              ? 

 (A)  (B)  (C)  (D)  

 

142. The distribution of seats of the Parliament are based on which census ? 

           ? 

 (A) 1951 (B) 1961 (C) 1971 (D) 1981 

 

143. The Zonal Councils discuss matters relating to 

 (A) Inter-State transport (B) Border disputes 
 (C) Economic and Social Planning (D) All of these 

          ? 

 (A) -   (B)   

 (C)     (D)   
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144. Democracy in India rests on the fact that 

 (A) the constitution is a written one.  
 (B) there are Fundamental Rights. 
 (C) people have right to choose and change the government. 
 (D) there are Directive Principles of State Policy. 
          

 (A)      
 (B)      
 (C)           
 (D)         

 

145. The objective of self-reliance and zero net foreign aid declared in which five 
year plan ? 

 (A) Second (B) Third (C) Fourth (D) Fifth 
               

 ? 

 (A)  (B)  (C)  (D)   

 

146. The Industries Development and Regulation Act was passed in which year ? 

            ? 

 (A) 1948 (B) 1952 (C) 1954 (D) 1956 

 

147. The planet having the largest number of satellites in the solar system is 

 (A) Mars (B) Jupiter (C) Saturn (D) Uranus 
          
 (A)  (B)  (C)  (D)  

 

148. The place which has the longest day and the shortest night on 22nd 
December is 

 (A) Madras (B) Madrid (C) Melbourne (D) Moscow 
 22               ? 

 (A)  (B)  (C)  (D)  
 

149. The term used for the zone at low pressure and light and variable winds in 
the oceanic equatorial regions is  

 (A) Depression   (B) Doldrums  
 (C) Horse-latitudes  (D) Inter-tropical convergence 
                   : 

 (A)    (B) -   
 (C)     (D)    

 

150. Which is not a fresh water lake ? 

 (A) Huron (B) Ontario (C) Erie (D) Titicaca 
         ? 

 (A)  (B)  (C)  (D)  
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151. Which state does not lie along the border of Pakistan ?  

 (A) Punjab (B) Rajasthan (C) Gujarat (D) H.P. 
            ?  

 (A)  (B)  (C)  (D)   

 

152. In which state wet agriculture is practised ? 

 (A) Tamil Nadu   (B) Karnataka  
 (C) Andhra Pradesh  (D) Kerala 
        ? 

 (A)  (B)  (C)   (D)  

 

153. Diamond is an allotropic form of  

 (A) Silicon (B) Carbon (C) Sulphur (D) Germanium 
     ? 

 (A)  (B)  (C)  (D)  

 

154. Heavy water is 

 (A) Tritium oxide  (B) Deuterium oxide  
 (C) Rain water   (D) Water at –4 C 
    
 (A)    (B)    
 (C)     (D) – 4 C   

 

155. Laparoscopy is connected with  

 (A) Radars   (B) Science of tissues 
 (C) Study of laser beams (D) Gynaecological operation 
     ? 

 (A)    (B)   
 (C)      (D)   

 

156. Existence on moon is not possible because of  

 (A) high pressure   (B) low pressure 
 (C) absence of air  (D) its week gravitational power 
         ? 

 (A)     (B)   
 (C)     (D)     

 

157. Which Indian bank recently launched the first ‘Video life certificate service’ 
for pensioners ? 

 (A) PNB   (B) SBI  
 (C) Bank of Baroda  (D) None of these 
            ‘   ’ 

  ? 

 (A)    (B)    (C)    (D)     
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158. Which country has recently passed the historic 1 trillion dollar infrastructure bill ? 

 (A) China (B) USA (C) Australia (D) Italy 
        1       ? 

 (A)  (B) ... (C)  (D)  

 

159. Parker Solar Probe, which was in the news recently, was launched by which 
country ?  

 (A) Sri Lanka (B) Nepal (C) USA (D) India 
   ,       ,        ?  

 (A)  (B)  (C) ... (D)  

 

160. In a certain code ‘METEMPIRIC’ is written as ‘NGWIRUMUKD’. How is 
‘OBLIGATION’ written in that code ? 

     ‘METEMPIRIC’  ‘NGWIRUMUKD’      
 ? ‘OBLIGATION’         ? 

 (A) PDONLFXLSO  (B) PCOMLFXLSO 
 (C) PDOMLFWLSO  (D) PDOMLFXLQO 

 

161. In a certain code ‘DOWN’ is written as 5916 and ‘NEAR’ is written as 
6342. How is ‘ROAD’ written in that code ? 

     ‘DOWN’  5916        ‘NEAR’  6342 
          ‘ROAD’      ? 

 (A) 2915 (B) 2645 (C) 2495 (D) 2945 

 

162. Which is different from the rest ? 

       ? 

 (A) 33 (B) 43 (C) 53 (D) 59 

 

163. One word substitution for ‘One who takes delight in excessive cruelty’ ? 

 (A) Anarchist (B) Sophist (C) Sadist (D) Nihilist 

 

164. Antonym of ‘Bliss’ is 

 (A) Paradise (B) Heaven (C) Misery (D) Happiness 

 

165. He grew tired of hard work and began to despair _______ success. 

 (A) of (B) with (C) for (D) about 

 

166. Meaning of the idiom ‘A jaundiced eye’ is  

 (A) Jealousy   (B) A generous view 
 (C) Angry   (D) Prejudice 

 

167. ‘ ’     
 (A)     (B)    
 (C)     (D)    

 

168. ‘’    
 (A)  (B)  (C)  (D)  
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169. ‘’    
 (A)  (B)  (C)  (D)  
 

170. ‘’    
 (A)  (B)  (C)  (D)  

 

171. Which of the following famous ruler is called as ‘Father of Inscriptions’ ? 

 (A) Samudra Gupta  (B) Chandragupta Maurya 
 (C) Ashoka   (D) Kanishka 
        ‘  ’    ? 

 (A)  (B)   (C)  (D)  

 

172. The second battle of Panipat took place in 

       ? 

 (A) 1526 (B) 1556 (C) 1576 (D) 1761 

 

173. Which became the first capital of a kingdom under the Tomar Rajputs ? 

 (A) Delhi (B) Patliputra (C) Calcutta (D) Taxila 
            

 (A)  (B)  (C)  (D)  

 

174. Who was appointed by Akbar as his Court Musician ? 

 (A) Abul Fazal (B) Miyan Tansen (C) Raja Birbal (D) Raja Todarmal 
              ? 

 (A)   (B)   (C)   (D)   

 

175. Which is in the World Heritage List ? 

 (A) Khajuraho (B) Taj Mahal (C) Hampi (D) All of these 
           ? 

 (A)  (B)  (C)  (D)   

 

176. Which year did Bankim Chandra Chattopadhyay wrote Anand Math ? 

         ? 

 (A) 1872 (B) 1876 (C) 1882 (D) 1886 

 

177. Where was the first session of the Indian National Congress held ? 

 (A) Lucknow (B) Calcutta (C) Bombay (D) Madras 
           ? 

 (A)  (B)  (C)  (D)  

 

178. Constituent Assembly of India was formulated on the recommendation of 

 (A) Wavel Plan   (B) Cripps Mission 
 (C) August Offer   (D) Cabinet Mission 
           ? 

 (A)   (B)   (C)   (D)   
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179. Where do we find the ideals of Indian democracy in the Constitution ? 

 (A) The Preamble (B) Part III (C) Part IV (D) Part I 
          ? 

 (A)  (B)  III (C)  IV (D)  I 

 

180. Seventh Schedule of the Constitution of India deals with 

 (A) Allocation of seats in the Council of States. 
 (B) Distribution of power between the Union and the States. 
 (C) Power and Authority of the Municipalities. 
 (D) None of these 
        
 (A)        (B)         
 (C)      (D)     

 

181. If the Prime Minister of India submits his resignation to the President, it will 
mean the resignation of the 

 (A) Prime Minister only 
 (B) Prime Minister and Home Minister  
 (C) Entire Council of Ministers 
 (D) None of these 
          ,      

 (A)     (B)      
 (C)      (D)     

 

182. The function of Protem Speaker is to  

 (A) Conduct the proceedings of the House in the absence of the Speaker. 
  (B) Officiate as Speaker when a Speaker is unlikely to be elected. 
 (C) Swearing in members and hold charge till a regular Speaker is elected. 
 (D) None of these 
      
 (A)           
  (B)               
 (C)                 
 (D)     

 

183. The Moon is showing its same face to the Earth because  

 (A) It is not rotating about its own axis. 
 (B) Its rotation and revolution are opposite. 
 (C) Its periods of rotation and revolution are the same. 
 (D) Its rotation is faster than its revolution. 
           

 (A)             
 (B)        
 (C)          
 (D)         
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184. Which river does not originate in Indian territory ? 

 (A) Mahanadi (B) Brahmaputra (C) Ravi (D) Chenab 
              ? 

 (A)  (B)  (C)  (D)  

 

185. Which states are prone to cyclones during retreating monsoon season ? 

 (A) Karnataka and Kerala (B) Punjab and Haryana 
 (C) Bihar and Assam  (D) Andhra Pradesh and Odisha 
            ? 

 (A)     (B)    
 (C)     (D)     

 

186. The most ideal region for cultivation of cotton in India is 

 (A) The Brahmaputra Valley (B) The Deccan Plateau 
 (C) The Indo Gangetic Valley  (D) The Rann of Kutch 
            
 (A)   (B)   (C) -  (D)    

 

187. The Silent Valley is located in which Indian State ? 

 (A) Kerala   (B) Karnataka  
 (C) Andhra Pradesh  (D) Maharashtra 
         ? 

 (A)  (B)  (C)   (D)  
 

188. Kalakkad – Mundanthurai Tiger reserve is in which state ? 

 (A) Tamil Nadu   (B) Chhattisgarh  
 (C) Arunachal Pradesh  (D) Uttarakhand 
  –        ? 

 (A)  (B)  (C)   (D)  

 

189. Tehri hydropower complex is constructed on which river ? 

 (A) Alaknanda (B) Mandakini (C) Dhauli Ganga (D) Bhagirathi 
         ? 

 (A)  (B)  (C)   (D)  

 

190. India’s population growth is characterised by 

 (A) An increase in rate of death. 
 (B) An increase in ratio of females. 
 (C) An increase in the birth rate and declining death rate. 
 (D) Increasing number of old people. 
         ? 

 (A)       (B)      
 (C)         (D)      
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191. A ‘Market Economy’ is one which 

 (A) is controlled by the Government. 
 (B) is free from the Government control. 
 (C) is influenced by International market forces . 
 (D) All of these 

 ‘ ’   
 (A)        
 (B)          
 (C)          
 (D)   

 

192. Which is an example of joint supply ? 

 (A) Coffee and Tea  (B) Ink and Pen  
 (C) Tooth Brush and Paste (D) Wool and Mutton 

         ? 

 (A)      (B)     

 (C)      (D)      

 

193. The cuticle is absent in 

 (A) Leaf (B) Stem (C) Root (D) Fruit 

     
 (A)   (B)   (C)   (D)   
 

194. The term ‘RH factor’ refers to 

 (A) Rhesus factor   (B) Rheumatoid factor 
 (C) Renal factor   (D) Rhombic factor 

  ‘RH ’    
 (A)   (B)   (C)   (D)   

 

195. Outside of cooking utensils are generally left black from below because 

 (A) It is difficult to clean daily. 
 (B) Black surface is a good conductor of heat. 
 (C) Black surface is a poor conductor of heat. 
 (D) Black surface is a good absorber of heat. 

                 

 (A)       (B)        
 (C)        (D)         
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196. Refrigerator protects the food from contamination because  

 (A) At its low temperature bacteria & fungus become non-reactive. 

  (B) Germs get died at this temperature. 

 (C) Germs get freeze at this temperature. 

 (D) It makes food free from germs. 

          

 (A)             

  (B)         

 (C)         

 (D)         

 

197. The lightest radioactive element is 

 (A) Deuterium (B) Polonium (C) Tritium (D) Uranium 

      

 (A)  (B)  (C)  (D)  

 

198. What is the common name of Calcium hypochlorite ? 

 (A) Washing soda  (B) Bleaching powder 

 (C) Baking powder  (D) Baking soda 

        ? 

 (A)   (B)   (C)   (D)   

 

199. Which institution recently released report on ‘Pandemic Billionaires’ ?  

 (A) Pratham Foundation (B) Oxfam 

 (C) Amnesty International (D) UNICEF 

       ‘ ’     ?  

 (A)     (B)  

 (C)    (D)  

 

200. Which state has recently released India’s first citizen-driven state-level Bird 
Atlas ? 

 (A) Kerala (B) Karnataka (C) Tamil Nadu (D) Odisha 

          -        ? 

 (A)  (B)  (C)  (D)  

_________ 

 



1 A 41 D 81 D 121 D 161 A

2 D 42 B 82 A 122 D 162 A

3 C 43 C 83 D 123 B 163 C

4 D 44 B 84 D 124 D 164 C

5 D 45 C 85 D 125 A 165 A

6 A 46 C 86 D 126 A 166 D

7 B 47 C 87 B 127 C 167 A

8 C 48 B 88 D 128 B 168 A

9 A 49 D 89 B 129 A 169 D

10 A 50 D 90 D 130 A 170 A

11 A 51 C 91 C 131 A 171 A

12 D 52 D 92 B 132 D 172 B

13 B 53 C 93 C 133 B 173 A

14 B 54 B 94 D 134 A 174 B

15 D 55 D 95 D 135 D 175 D

16 A 56 B 96 B 136 A 176 C

17 D 57 A 97 B 137 B 177 C

18 B 58 C 98 D 138 A 178 D

19 A 59 C 99 C 139 A 179 A

20 C 60 D 100 D 140 B 180 B

21 C 61 C 101 B 141 D 181 C

22 B 62 B 102 A 142 C 182 C

23 C 63 B 103 B 143 D 183 C

24 A 64 B 104 C 144 C 184 B

25 B 65 A 105 B 145 C 185 D

26 C 66 D 106 D 146 C 186 B

27 D 67 D 107 A 147 B 187 A

28 D 68 D 108 C 148 C 188 A

29 A 69 B 109 A 149 B 189 D

30 D 70 D 110 C 150 D 190 C

31 C 71 C 111 B 151 D 191 B

32 B 72 D 112 A 152 D 192 D

33 C 73 D 113 D 153 B 193 C

34 D 74 B 114 C 154 B 194 A

35 D 75 C 115 C 155 D 195 D

36 C 76 D 116 C 156 D 196 A

37 D 77 C 117 A 157 B 197 C

38 C 78 A 118 B 158 B 198 B

39 D 79 D 119 A 159 C 199 B

40 B 80 B 120 B 160 D 200 A

KEY SET   C-795 PHARMACIST (ALLOPATHY) (POST CODE-954)  SERIES-A

fuEu n'kkZbZ xbZ vLFkk;h mÙkj dqath (Provisional Answer Key) fnukad 14.05.2022 dks vk;ksftr

PHARMACIST (ALLOPATHY) (POST CODE-954) dh NaVuh ijh{kk ls lEcfU/kr gSA ;fn vH;fFkZ;ksa dks

mÙkj dqath ds lanHkZ esa dksbZ vkifÙk gks] rks os fyf[kr lk{;ksa (Documentary proof) ds lkFk vk;ksx dk;kZy; esa
O;fDrxr rkSj ij vFkok Mkd }kjk viuh vkifÙk;ka izsf"kr dj ldrs gSaA vk;ksx ds fu.kZ; vuqlkj e-mail }kjk
izsf"kr vkifÙk;ka Lohdkj ugha gksxhA vk;ksx dk;kZy; esa fnukad 24.05.2022 lka; 5 cts rd izkIr vkifÙk;ka gh

fopkj.kh; gksaxhA vkifÙk;ka ntZ djrs le; vH;FkhZ in uke] in dksM] vuqØekad] viuh iz'u iqfLrdk (Question 

Booklet)  dh lhjht+ o iz'u la[;k vo'; bafxr djsaA

DATED: 17.05.2022
 Sd/

CONTROLLER OF EXAMINATION



1 A 41 B 81 A 121 B 161 D

2 D 42 D 82 C 122 D 162 C

3 C 43 C 83 B 123 D 163 B

4 B 44 D 84 A 124 D 164 D

5 C 45 D 85 D 125 B 165 C

6 D 46 B 86 C 126 B 166 A

7 D 47 C 87 C 127 D 167 D

8 C 48 D 88 C 128 D 168 A

9 D 49 C 89 A 129 B 169 C

10 C 50 A 90 B 130 B 170 B

11 D 51 D 91 A 131 C 171 B

12 B 52 B 92 B 132 D 172 A

13 D 53 D 93 D 133 A 173 A

14 B 54 A 94 D 134 A 174 D

15 C 55 D 95 B 135 C 175 C

16 B 56 D 96 D 136 C 176 D

17 C 57 D 97 A 137 A 177 D

18 C 58 D 98 A 138 D 178 A

19 C 59 B 99 C 139 A 179 B

20 B 60 D 100 B 140 A 180 C

21 D 61 B 101 A 141 D 181 A

22 D 62 D 102 A 142 A 182 A

23 C 63 C 103 A 143 A 183 A

24 D 64 B 104 D 144 B 184 D

25 C 65 C 105 B 145 A 185 B

26 B 66 D 106 A 146 B 186 B

27 D 67 D 107 D 147 D 187 D

28 B 68 B 108 A 148 C 188 A

29 A 69 B 109 B 149 C 189 D

30 C 70 D 110 A 150 D 190 B

31 C 71 C 111 A 151 A 191 A

32 D 72 D 112 B 152 B 192 C

33 C 73 B 113 D 153 C 193 C

34 B 74 A 114 C 154 C 194 B

35 B 75 B 115 D 155 C 195 C

36 B 76 C 116 C 156 B 196 A

37 A 77 B 117 C 157 D 197 B

38 D 78 D 118 C 158 B 198 C

39 D 79 A 119 B 159 A 199 D

40 D 80 C 120 C 160 A 200 D

KEY SET   C-795 PHARMACIST (ALLOPATHY) (POST CODE-954)  SERIES-B

fuEu n'kkZbZ xbZ vLFkk;h mÙkj dqath (Provisional Answer Key) fnukad 14.05.2022 dks vk;ksftr

PHARMACIST (ALLOPATHY) (POST CODE-954) dh NaVuh ijh{kk ls lEcfU/kr gSA ;fn vH;fFkZ;ksa dks

mÙkj dqath ds lanHkZ esa dksbZ vkifÙk gks] rks os fyf[kr lk{;ksa (Documentary proof) ds lkFk vk;ksx dk;kZy; esa
O;fDrxr rkSj ij vFkok Mkd }kjk viuh vkifÙk;ka izsf"kr dj ldrs gSaA vk;ksx ds fu.kZ; vuqlkj e-mail }kjk
izsf"kr vkifÙk;ka Lohdkj ugha gksxhA vk;ksx dk;kZy; esa fnukad 24.05.2022 lka; 5 cts rd izkIr vkifÙk;ka gh

fopkj.kh; gksaxhA vkifÙk;ka ntZ djrs le; vH;FkhZ in uke] in dksM] vuqØekad] viuh iz'u iqfLrdk (Question 

Booklet)  dh lhjht+ o iz'u la[;k vo'; bafxr djsaA

DATED: 17.05.2022
Sd/

CONTROLLER OF EXAMINATION



1 D 41 A 81 C 121 B 161 D

2 B 42 B 82 D 122 A 162 B

3 D 43 D 83 A 123 A 163 D

4 A 44 D 84 A 124 D 164 B

5 D 45 B 85 C 125 C 165 C

6 D 46 D 86 C 126 D 166 B

7 D 47 A 87 A 127 D 167 C

8 D 48 A 88 D 128 A 168 C

9 B 49 C 89 A 129 B 169 C

10 D 50 B 90 A 130 C 170 B

11 B 51 A 91 D 131 A 171 D

12 D 52 A 92 A 132 A 172 D

13 C 53 A 93 A 133 A 173 C

14 B 54 D 94 B 134 D 174 D

15 C 55 B 95 A 135 B 175 C

16 D 56 A 96 B 136 B 176 B

17 D 57 D 97 D 137 D 177 D

18 B 58 A 98 C 138 A 178 B

19 B 59 B 99 C 139 D 179 A

20 D 60 A 100 D 140 B 180 C

21 C 61 A 101 A 141 A 181 C

22 D 62 B 102 B 142 C 182 D

23 B 63 D 103 C 143 C 183 C

24 A 64 C 104 C 144 B 184 B

25 B 65 D 105 C 145 C 185 B

26 C 66 C 106 B 146 A 186 B

27 B 67 C 107 D 147 B 187 A

28 D 68 C 108 B 148 C 188 D

29 A 69 B 109 A 149 D 189 D

30 C 70 C 110 A 150 D 190 D

31 A 71 B 111 D 151 A 191 B

32 C 72 D 112 C 152 D 192 D

33 B 73 D 113 B 153 C 193 C

34 A 74 D 114 D 154 B 194 D

35 D 75 B 115 C 155 C 195 D

36 C 76 B 116 A 156 D 196 B

37 C 77 D 117 D 157 D 197 C

38 C 78 D 118 A 158 C 198 D

39 A 79 B 119 C 159 D 199 C

40 B 80 B 120 B 160 C 200 A

KEY SET   C-795 PHARMACIST (ALLOPATHY) (POST CODE-954)  SERIES-C

fuEu n'kkZbZ xbZ vLFkk;h mÙkj dqath (Provisional Answer Key) fnukad 14.05.2022 dks vk;ksftr

PHARMACIST (ALLOPATHY) (POST CODE-954) dh NaVuh ijh{kk ls lEcfU/kr gSA ;fn vH;fFkZ;ksa dks

mÙkj dqath ds lanHkZ esa dksbZ vkifÙk gks] rks os fyf[kr lk{;ksa (Documentary proof) ds lkFk vk;ksx dk;kZy; esa
O;fDrxr rkSj ij vFkok Mkd }kjk viuh vkifÙk;ka izsf"kr dj ldrs gSaA vk;ksx ds fu.kZ; vuqlkj e-mail }kjk
izsf"kr vkifÙk;ka Lohdkj ugha gksxhA vk;ksx dk;kZy; esa fnukad 24.05.2022 lka; 5 cts rd izkIr vkifÙk;ka gh

fopkj.kh; gksaxhA vkifÙk;ka ntZ djrs le; vH;FkhZ in uke] in dksM] vuqØekad] viuh iz'u iqfLrdk (Question 

Booklet)  dh lhjht+ o iz'u la[;k vo'; bafxr djsaA

DATED:17.05.2022
Sd/

CONTROLLER OF EXAMINATION



1 B 41 C 81 D 121 A 161 B

2 A 42 D 82 B 122 C 162 D

3 A 43 A 83 A 123 C 163 C

4 B 44 B 84 C 124 D 164 D

5 D 45 C 85 C 125 C 165 B

6 C 46 C 86 B 126 B 166 A

7 D 47 C 87 C 127 B 167 B

8 C 48 B 88 A 128 B 168 C

9 C 49 D 89 B 129 A 169 B

10 C 50 B 90 C 130 D 170 D

11 B 51 A 91 D 131 D 171 A

12 C 52 A 92 D 132 D 172 C

13 B 53 D 93 A 133 B 173 A

14 D 54 C 94 D 134 D 174 C

15 D 55 B 95 C 135 C 175 B

16 D 56 D 96 B 136 D 176 A

17 B 57 C 97 C 137 D 177 D

18 B 58 A 98 D 138 B 178 C

19 D 59 D 99 D 139 C 179 C

20 D 60 A 100 C 140 D 180 C

21 B 61 C 101 D 141 C 181 A

22 B 62 B 102 C 142 A 182 B

23 C 63 B 103 D 143 D 183 A

24 D 64 A 104 B 144 B 184 B

25 A 65 A 105 D 145 D 185 D

26 A 66 D 106 B 146 A 186 D

27 C 67 C 107 C 147 D 187 B

28 C 68 D 108 B 148 D 188 D

29 A 69 D 109 C 149 D 189 A

30 D 70 A 110 C 150 D 190 A

31 A 71 B 111 C 151 B 191 C

32 A 72 C 112 B 152 D 192 B

33 D 73 A 113 D 153 B 193 A

34 A 74 A 114 D 154 D 194 A

35 A 75 A 115 C 155 C 195 A

36 B 76 D 116 D 156 B 196 D

37 A 77 B 117 C 157 C 197 B

38 B 78 B 118 B 158 D 198 A

39 D 79 D 119 D 159 D 199 D

40 C 80 A 120 B 160 B 200 A

KEY SET   C-795 PHARMACIST (ALLOPATHY) (POST CODE-954)  SERIES-D

fuEu n'kkZbZ xbZ vLFkk;h mÙkj dqath (Provisional Answer Key) fnukad 14.05.2022 dks vk;ksftr

PHARMACIST (ALLOPATHY) (POST CODE-954) dh NaVuh ijh{kk ls lEcfU/kr gSA ;fn vH;fFkZ;ksa dks

mÙkj dqath ds lanHkZ esa dksbZ vkifÙk gks] rks os fyf[kr lk{;ksa (Documentary proof) ds lkFk vk;ksx dk;kZy; esa
O;fDrxr rkSj ij vFkok Mkd }kjk viuh vkifÙk;ka izsf"kr dj ldrs gSaA vk;ksx ds fu.kZ; vuqlkj e-mail }kjk
izsf"kr vkifÙk;ka Lohdkj ugha gksxhA vk;ksx dk;kZy; esa fnukad 24.05.2022 lka; 5 cts rd izkIr vkifÙk;ka gh

fopkj.kh; gksaxhA vkifÙk;ka ntZ djrs le; vH;FkhZ in uke] in dksM] vuqØekad] viuh iz'u iqfLrdk (Question 

Booklet)  dh lhjht+ o iz'u la[;k vo'; bafxr djsaA

DATED: 17.05.2022
Sd/

CONTROLLER OF EXAMINATION




